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7.
What is the difference between earned income and unearned income?


Earned income is a payment for human capital.  That is, it results from the provision of labor and services for which payment or a profit (in the case of a sole proprietor) is received.  


Unearned income is a payment for a return on an investment.  The taxpayer invests money or other assets.  An amount is received for the use of the assets. There is no direct investment of human capital.

10.
Explain the difference in determining the amount of income recognized from a conduit entity versus a taxable entity.


In a conduit entity, the income of the entity flows through proportionately to the owners of the entity.  The entity itself does not pay tax on the income -  the owners of the entity include the income on their tax returns.  Distributions paid to owners of conduit entities are not taxable; they are returns of investment, not distributions of earnings. 


In a taxable entity, the entity is responsible for the payment of tax on its income.  Distributions paid to owners of the entity represent returns on the owner’s investment and are subject to tax.

11.
What effect does an asset's adjusted basis have in determining the gain or loss realized upon its sale?


Under the capital recovery concept, income is not realized until all capital invested in an asset has been recovered.  An asset's adjusted basis represents capital investment that has not been recovered.  Therefore, a gain on the sale of an asset results when the asset is sold for more than its adjusted basis.  A loss occurs when all capital investment has not been recovered through sale -- the asset is sold for less than its adjusted basis.

12.
This chapter noted that returns on investment are taxable, whereas returns of investment are not taxable.  What is the conceptual basis for this treatment?  Cite examples of each type of return, and explain why they are or are not taxable.


Returns of investment are not taxable due to the capital recovery concept.  Returns on an investment represent increases in wealth and are taxed when realized.  


Examples include:


Interest earned on a savings account - the interest is taxed when credited to the account (return on investment).  When the taxpayer withdraws money from the account (return of investment), it is not taxed.  


Investment in stock -  if the stock is from a corporation, cash dividends received represent returns on investment because they are distributions of corporate earnings to shareholders.  When the stock is sold, no income is recognized until the amount invested in the stock is recovered (return of capital).  Any gain on a sale is an increase in wealth through holding the stock (return on investment).


If the stock is S corporation stock, a different result occurs.  The income of the S corporation is owned proportionately by the shareholders and flows through the corporation to them for tax purposes.  Thus, when the corporation has income, the shareholder has income (return on investment).  The payment of dividends to shareholders are returns of their investment and are not subject to tax.  


Rental Property - Rents received on property are a return on investment because the owner's wealth increases.  A return of investment does not occur until the owner sells or otherwise transforms the value of the property.  For example, a realization could occur due to a casualty and would constitute a return of capital if a deduction for a loss is sustained.

31.
Two Sisters is a partnership that owns and operates a farm. During the current year, the partnership raised and harvested hay at a cost of $20,000. It then traded half the hay for quarter horse breeding stock---young horses worth $30,000. Two Sisters fed the remainder of the hay to the horses, which was worth $50,000 at the end of the year. How much income does the partnership have from these transactions during the current year?


Two Sisters realized $30,000 for hay that cost $10,000 ($20,000  x  50%) when it exchanged the hay for the horses.  Therefore, it has $20,000 ($30,000  -  $10,000) of income from the exchange.  The value of the hay that was fed to the horses remains unrealized.  Even though the horse's value has increased $20,000 ($50,000  -  $30,000) by the end of the year, the increase has not been realized in an arm's-length transaction and no income is recognized.  Note:  Two Sisters could deduct the $10,000 cost of the hay that was fed to the horses in the current year.

36.
Determine whether Frank or Dorothy, Frank’s friend, is taxed on the income of each of the following situations:

a.
Frank owns 8% bonds with a $10,000 face value.  The bonds pay interest annually on June 30.  On September 30, Frank makes a bona fide gift of the bonds to Dorothy.


Both Frank and Dorothy must recognize the interest earned during the period they held the bonds.  Of the total interest payment of $800, Frank held the bonds for 3 months and must recognize $200 [(3  (  12)  x  $800] of interest.  The remaining $600 of interest is attributable to Dorothy.  This is an application of the assignment of income doctrine.  Frank is taxed on the income from the bond during the time he owns the bond.  The $200 of interest that has accrued by the date of the gift is considered to be part of the gift and is not taxed to Dorothy.  

b.
A few years ago, Frank wrote a best selling book about computers.  On August 1, Frank instructs the publisher to pay all future royalties to Dorothy.


Frank must still recognize the income from the royalties even though Dorothy receives all royalty payments after August 1.  The payments are for services performed by Frank prior to August 1, and cannot be assigned to another for tax purposes under the assignment of income doctrine.

c.
Frank owns 1,000 shares of Pujan stock.  On May 1, Pujan declares a $12-per-share dividend to shareholders of record as of June 1.  On May 15, Frank gives the Pujan stock to Dorothy.  She receives the $12,000 dividend on June 30. 


Frank is taxed on the dividend, even though Dorothy was the shareholder of record for payment purposes.  The dividend was fixed at the declaration date and is taxable to the owner then. Note that if Frank had gifted the stock prior to May 1, the dividend would have been taxable to Dorothy.

44.
The Rosco Partnership purchases a rental property in 2002 at a cost of $150,000.  From 2002 through 2007, Rosco deducts $14,000 in depreciation on the rental.  The partnership sells the rental property in 2007 for $160,000 and pays $9,000 in expenses related to the sale.  What is Rosco's gain or loss on the sale of the rental property?


Under the capital recovery concept, Rosco's gross income from the sale of the rental property is the excess of the net sales price over its investment in the property.  Investment in property is measured by its adjusted basis.  Adjusted basis is equal to the original basis of the property adjusted for capital expenditures (additions to basis) and recoveries of investment (depreciation deductions).  The net sales price is referred to as the amount realized, which is equal to the sales price less the costs of sale.  The net sales price of the property is $151,000 ($160,000  -  $9,000) and the basis of the property is $136,000 ($150,000  -  $14,000), resulting in a gain of $15,000:

Selling price







$ 160,000

Less:  Selling expenses





      (9,000)

Amount realized from sale




$ 151,000

Less:  Adjusted basis of property


    Original basis



$ 150,000

Less:  Depreciation deductions

    (14,000)

  (136,000)

Gain on sale







$   15,000
45.
Reddy owns common stock with a market value of $30,000.  The stock pays a cash dividend of $1,200 per year (a 4% annual yield).  Reddy is considering selling the stock, which she purchased 13 years ago for $10,000, and using the proceeds to purchase stock in another company with a 5% annual dividend yield.  If Reddy's goal is to maximize future dividends on her common stock investments, should she make the sale and purchase the new shares?  Assume that Reddy is in the 28% marginal tax rate bracket.


Ignoring transaction costs, Reddy will gain $150 by selling the shares she currently owns.  If she sells the stock, she will have a taxable gain of $20,000 ($30,000  -  $10,000), on which she will pay a tax of $3,000 ($20,000  x  15%).  This will leave her with $27,000 ($30,000  -  $3,000) to invest in the stock yielding 5%.  Her annual dividends on the new stock will be $1,350 ($27,000  x  5%), an increase of $150 over her current dividend of $1,200.  If the transaction costs of selling the old stock and buying the new stock are greater than $150, then Reddy is worse off by selling the stock she currently owns.

Selling price



$ 30,000

Adjusted basis


  (10,000)

Gain on sale



$ 20,000

Long-term capital gain rate
   x     15%

Tax on gain



$   3,000
Cash available to reinvest  =  $30,000  -  $3,000  =  $27,000

Dividends on stock investment  ($27,000  x  5%)

$ 1,350

Current dividends






  (1,200)

Additional dividends





$    150
51.
Elwood had to retire early because of a job-related injury.  During the current year, he receives $10,000 in Social Security benefits.  In addition, he receives $6,000 in cash dividends on stocks that he owned and $8,000 in interest on tax-exempt bonds.  Assuming that Elwood is single, what is his gross income if

a.
He receives no other income?


Elwood's gross income before considering the taxability of the Social Security benefits is $6,000; the interest is excluded from gross income.  None of the $10,000 of Social Security benefits are taxable because his modified adjusted gross income is less than the $25,000 base amount.  Elwood must include the lesser of:

1.
.5  x  ($10,000)  =  $5,000


or

2.
.5  x  ($6,000  +  $8,000  +  $5,000  -  $25,000)  <  0

b.
He also receives $11,000 in unemployment compensation?


Elwood's gross income increases by the receipt of the unemployment compensation to $17,000 ($6,000  +  $11,000).  He must include $2,500 of the Social Security in gross income.  

1.
.5  x  ($10,000)  =  $5,000


or

2.
.5  x  ($6,000  +  $11,000  +  $8,000  +  $5,000  -  $25,000) 



.5  x  ($5,000)  =  $2,500


Elwood's gross income is $19,500 ($6,000  +  $11,000  +  $2,500).  Because his modified adjusted gross income of $30,000 is less than $34,000, the 2nd tier inclusion rule does not apply.

c.
He sells some land for $80,000?  He paid $45,000 for the land.


Elwood's gross income is $41,000 [($80,000  -  $45,000)  +  $6,000].  His modified adjusted gross income increases to $54,000 ($41,000  +  $8,000  +  $5,000) and he becomes subject to the 2nd tier inclusion rule.  Under the first tier inclusion rule, Elwood would include $5,000 of the Social Security benefits in his gross income.  The lesser of:

1.
.5  x  ($10,000)  =  $5,000


or

2.
.5  x  ($41,000  +  $8,000  +  $5,000  -  $25,000)  =  $14,500


Under the 2nd tier inclusion rule, $8,500 of the Social Security benefits are included in his gross income:


The lesser of:

1.
85%  x  $10,000






$   8,500

or

2.
The sum of:


a.
85%  x  ($54,000  -  $34,000)

$ 17,000


b.
the smaller of




i.

$5,000




ii.
$4,500



      4,500

$ 21,500
Elwood's gross income is $49,500 ($6,000  +  $35,000  +  $8,500)

84.
How much income would an accrual basis taxpayer report in 2007 in each of the following situations?

a.
Toby's Termite Services Inc. provides monthly pest control on a contract basis.  Toby sells a 1-year contract for $600 and a 2-year contract for $1,080.  In October, Toby sells 10 1-year contracts and 5 two-year contracts.


The one year contracts would be eligible for accrual under the deferral method.  Toby's would recognize $1,500 [($600  ÷  12)  =  $50  per month  x  10 contracts  x  3 months earned] of income from these contracts in 2007.

The two-year contracts are also eligible for accrual under the deferral method.  Toby’s includes the amount it recognized for financial purposes in its 2007 gross income, with the remainder included in its 2008 gross income.  For financial purposes, Toby’s recognizes $675 [($1,080  ÷  24) = $45 per month  x  5 contracts  x  3 months], from the two year contracts in 2007.  The remaining $4,725 ($5,400  -  $675) from the contracts is recognized in 2008.

b.
John's Tractor Sales receives a $150 deposit from a customer for a new tractor that the customer orders in December.  The tractor arrives the following February, at which time the customer pays the remaining $9,800 of the agreed-upon sales price.


John's would be able to defer recognition of any income from the deposit until the sale is closed in 2008, provided that it defers recognition for financial accounting purposes and the cost of the tractor is more than $150.

c.
A customer of First Financial Lending sends First Financial two $600 checks in December in payment of December and January interest on a loan.


First Financial must include both interest checks received as income in the year of receipt under the wherewithal-to-pay concept.  No deferral is allowed for advanced receipts of interest.

d.
First Financial Lending receives interest payments totaling $8,400 in January 2008 in payment of December 2007 interest on loans.


As an accrual basis taxpayer, First Financial will report the $8,400 received in January as 2007 income.  Accrual basis taxpayers recognize income when it is earned (2007) without regard to the year of actual receipt (2008).
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